	Esempio
	Calcolo 2021
	Calcolo 2022

	Imponibile fiscale
	40.000
	40.000

	Imposta Lorda
	15.000 x 23% = 3.450
13.000 (28.000 – 15.000) x 27% = 3.510
12.000 (40.000 – 28.000) x 38% = 4.560
Totale = 11.520
	15.000 x 23% = 3.450
13.000 (28.000 – 15.000) x 25% = 3.250
12.000 (40.000 – 28.000) x 35% = 4.200
Totale = 10.900

	Detrazioni per lavoro dipendente
	978 x (55.000 – 40.000)/27.000 = 543,33
	1.910 x (50.000 – 40.000)/22.000 = 868,18

	Imposta Netta 
	11.520 – 543,33 = 10.976,67
	10.900 – 868,18 = 10.031,82



